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. -�uSl,1\fhu� / BIOLOGY 

(gJDIJ"LD : 3 LD� ] [ Gwrr�� LD�uQuoo8iGTT : 150 [Maximum Marks : 150 Time Allowed : 3 Hours ] 
c:�u616l.16lDIJ" : (1) � � 60T � � 661 6m" rr 8; 8, (§ LD a= rfl llJ rr 8i u � 6tl rr $) @_ <olT GTT � rr � � u � � 6nT

a=rfl u rrrr ��8; G8irr<oTTGTT64 LD. �8=8rl.J u� 661ro @j�!D �®LJ�60T � �!!)8>
8i�� rr� u u rrrorfl LLD �L60T1-9-lLI rr 8i:$ Q� rrl GlS18>856tJ Lb.

(2) iroili �ru�.� B"?<!9LILJ �LDu9l�6nT LDL@Ow �@�ru�!D®LD,�.�8>G8i�1-9-®6tl�JD@jl..D U,llJ�U@�� G6tlOO@LQ. LlL�8i<olT Gtl�IJ"��!D@j
Qw�@W Ull.J.6ITTU{b)��6Ll,LD,

Instructions : (1) Chee� fue qu,es,tion paper for faiFness. of printjng. If there is any lack of 
fajrnes$, ipform the Hall Supervi�or inuA�di�tely. 

(2) Us.e-13,fac15 or �lµe-ink to write a.nd underline and pencil to �aw.diagrams.
�n51 u� : u ®� - 1 -� .rr�}-tW 661 � � � ll.J Lb. � � � - u 661 ro ffiJ � llJ � ro ll..J Lb � 6nTl � � 6lIT1

661 � L�� rr� Gb>�� 4ty6tr-l��G,tJ LD. 
No.te: Candidate ��PU:l� answerf.Pc;1tt - I (Botany) & Part - II (Zoology) in separate 

answerjboqks. 
w�� - I (�rr�.•?:���}/PART - I (BOTANY), 

(ip�uQw_�a;Gi,- :·75) (. (Marks : 75) 
��-- �t/f?ECTION- A 

®n51LI� : (i) �6lS)6lfl'��- ·GlS1,60Tff8>l!5®8>�tp, @S1�LllJGTTl8>8iGl.jLD. 
I 

, ·  
' , , ' 

t4x1=14 

Note: 

(ii) e=rrhurr6lrr 6.)5l�L�UJ� a�,\�Q�@�� �c.w�8i.
(i) An�vyer all th� qu��tions_.
(ii) Choos� and write the correct a.11swer.
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1. (Y)�6n">L.OWrra; �a;w�G60l!IJ!DL.06n">L�LD @5�a;Ga;rrool6151@JB� �6n">LUU� :

(�) 38 ATP -(�) 36 ATP (@) 35 ATP (FF) 24 ATP 

Complete oxidation of one molecule of glucose yields : 
(a) 38 ATP (b) 36, ATP (c) 35 ATP

(�) IAA (�) PAA (@) ABA 

An example for synthetic auxin is : 
(a) IAA (b) PAA (c) ABA

3. "U!D6n">6l.la;6lfl6br Q5rrrra;a;' L.OGUIT" 6r6?5T!D6n">�c9,8jLJ u(b)ru� :

( � ) u5l �oo rr u rr1;lq-ool lLJ rr a; rr

-(�) ooQuf16151L.illUrr Q1;�G60lrr

(@ ) IJ" rrru Q 60T Q) IT LO La; rroo a; rfl lLJ 6m" � Gru

( FF) Q � 6151 Ga; rr 60ll lLJ rr §l !DJD160l LD

"The bird of paradise flower" refers to
(a) Musa paradisiaca

(b) Strelitzia reginae 

(c) Ravenala madagascariensis .
( d) · Heliconia Sp

(d) 24 ATP

( FF) NAA 

(d) NAA

4. �ruQrurr@ Q1;G'iuLrflc9,�� G ]J>rr��L.D 'DNA e!JHi\)c9;861.6n)!D @Jt� @L��Q)
� 6mrrlq-c$� !D�

� ; '--.. --- - ·---.-. 

( � ) � 6l5T a;Gtfl 6l5T (Y) 6n) 60T a;Gtfl 6l) 

(.@) j51�c9,ffilGTf1Gwrr6n">L(b) rurfl6n">6u.51GU 

( �) L.6�6n">��ru u®�u.51ru

( r=r-) DNA @516br 6n1LDlLJ��ru

Each restriction, enzyme cleaves a molecule only at :
(a) the ends of genes (b) methyl groups
(c) · nucleotide sequence (d) the time of DNA replication
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s. a6tlrr��@Sl85�m 2-!bu�� G6UJU6ID6tl :
( �) Qurfl6ID5B>ffilro ( qb) �8,�a�rrru 
(@ ) LHD 6ml ( Ff) lq-6ID IJ" 8i (]85 rr� torr rrGiu (b) 85GTT 
The root hairs are produced from : 
(a) Pericycle
(c) Cortex

(b) Endodermis
( d) Trichoblasts

6. GTJfi� 6tl6ID85L.Jurr®, @6b"ruQu®8i85 6l..16ID85L.JUrr(b) GT6b"r �6ID�8i85uu@ffil!I)�?
( � ) Q 5W !D 6ID c9, @ 6ID !D 6l..l 6ID 85 u u rr@ ( qb ) @ w !D 6ID 85 (Y) 6ID !J) 6l..l 6ID85 u u rr® 
(@ ) LD IJ" � 6t1 w1 (Y)6ID !I) 6l..l 6ID85 L.J U rr® ( r-F) @w !I) 6ID 85 a� IT� (Y)� !I) 
Which of the following classification is a sexual system of classification? 
(a) Artificial_ system (b) Natural system
(c) · Phylogenetic system (d) Natural selection

' .

( r-r-) lfl LIJ"ffil �rr6l..l lJ"LD 

Which is the collateral host plant of pyricularia oryzae-? 

(a) Oryza Saliva

(c) Arachis hypogea

(b) Digitaria marginata

( d) Citrus plant

8. (§alJ"rraLDrra5rrLD GT6m!I) GUW6IDIJ" �!]5l(Y)85UU(b)��UJ6l..llT :

6238 

( �J �rflL.:...�Giu ( �) 6l.JrrQ)�LWIT (@) urrru�wrr� ( r-r-) o0o�torrl.DuSlffiJ
The· -ter� chromosome was introduced by 
(a) Bridges (b) W aldeyer ( c) Balbiani

9. aLDrra6b"rrraa=rru51 @6l.l6l..lrrIDJ (§!]51U�LL.JU(b)�!I)� :
(�) 2n-1 (�) 2n+l (@) 2n-2 
Monosomy is represented by 
(a) 2n -1 (b) 2n + 1 (c) 2n-2

( d) Flemming

(r-r-) 2n+2 

(d) 2n+2

[ �®L.J�85 / Turn over 
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10. @iroo® �Girrn.:_GurL.Slrorrw®6i(.§B>$1mLGtu @m6m"mru �OOLrrB>(§LD @m6m"�
BirrlJ"�:

(�) urr6'51 <or��6'516irr $lmroB>a;rrro { qb) urr6'5161Slm6nl"ro C§Grorrmir®

(@) urr6'51 r-r�G�6irr $1mITTffi6irrro ( r-r) urrwurrrf1B> r-r:�G�6irr 
The two protoplasts are fused with a fusogenic agent called 

(a) polyethylene glycol (b) polyvinyl chloride

(c) polyethane glycol (d) phosphoric ethane

11. U6l>6i!!)mfD LD6ilJ"����rrroa;ro a;rr6m"uu®LD �rrruirLD :

( �) Gir616nl"Gru ( qb) LrrL�IJ"rr (@) u51�!/Frr 
Polyadelphous stamens are present in this plant : 

(a) Ricinus (b) Datura (c) Musa ( d) Hibiscus ,

12. @@Uffi6i(!PLD ��� �mLDULJmLtu @mGl> @ruwpS)ro 6iIT6m"LJU�$1!D� :

(�) LJro (qb) @jffi6irrL.SlLLrr (@) _(§rf1tu8;rrJh� (r-r) �61..lml]' 
Isobilateral leaf is present in 

(a) grass (b) cucurbita ( c) sunflower (d) bean

( �) 6]"$1ro LDrrrru516l>rrW 

(@) mL.OGL.Orra=rr �tti-a;rr 

( qb) 61a=oo (§61..lrrLIJ"rrB>C§Gl>rrrrlw 

( r-r) _ Ga=rr6l>rr6m"LD mJ]B>IJ"LD 
Binomial name of "Thottal Chinungi" is 

(a) Aegle marmelos (b) Cissus quadrangularis

(c) Mimosa pudica (d) Solanum nigrum.

14. �8=g)-ik6ffl�LD -�rrruir��!D® "1=(b)��B>a;rrL@--:- --- - : -- . - -

( �) LIJ"OOO"rr ( qb) @Slooa;L.D

C@) LDrrG6nTrrLGIJ"rru rr ( r-r) 61..1 rrooLrr ·
An example for insectivorous plant is

(a) Drosera

(c) Monotropa

(b) Viscum

(d) Vanda
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L.Slrrl� - �/SECTION - B 

®!J5h.J� : 6JC:fb�LD 6J@ @S16m"rrB>8>�B>@j LDL@LD @Sl�LwGTTla;8>6tJLD. 

Note : · Answer any seven questions. 

15. @09,ts=rr!b Guwrrl(b) (Y)�!D 6r6b"T!J)rrru 6r6b"T6m"? 2-�rrlJ"6n"OTLD �@8>.

What is binomial nomenclature? Give an example.

16. � LalJ"rra°o�6bl 6r6b"T!J)rrru .6r6b"TGnT ?

What is atropine ?

17. ual)'"rrLaLrr�B=Q)LD @�LG6i.Jwl 61"6bl!!)rTQ) 6r6bl6m" ?

Whp.t is a protoxylem lac;una?

18. a8>rr6lITTB> {:gs;rrru6b"T�8>LDrr ULlD 6ll�IJ"�� LJrT8>ffiJ8>�GTT @jpSl,

Draw Angular Collenchyma and label the parts.

19. · @j@I a; (g$ !I) !I)�� 6bT (Y)B>$) lU �� 6ll ffiJ 8> 6TT ep 6blp5l � 6nT @5 p51 LJ � @8>.

Write the three significance of crossing over.

20. 2._u5llf18>GITrTQ) 81J�L08>8>LJLJ(b)�ru � i 61..l�IJ"lUWJ. 

Define Bioremediation.

21. -�wl5 arrurrB=��w®1.0, @®LarrurrB=��W®LD 2-wro a6}.Jwurr@8>�GTT �@$.

Write three differences between Photorespiration and Dark respiration.

22. ATP-Gbr ��LDLJ�LJ ULLO 6ll�IJ"�� LJrT8>ffiJ8>�GTT @5!!51,

Draw and label the structure of ATP.

6238 
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23. (§IDJU)U8>ru �rm..il}"U) GTGbT!I)rrru GT6m6"0T? �@��a;19;·rn.: .... (BI �@19>. 

What is a short day plant ? Give an example. 

24. �u51 fr �B=Ma;Q19;rrrurol GT6m!I)rrru GT6m6"0T ? GT@��a;cJ;rrL(B\ �(!9c6.

What a�e biopesticides ? Give an example.

L.5lrrl� - @/SECTION - C 

®!Dh.J� (i) 6J��WJ LO !f>IT6lrr® @S16"0Trr a;cJ;(_§a;@) @S1 � LUJ 6lfl $8J� LI), 6lS16"0Trr GT6m" 25-a;(§

(ii) 

c66m"Lq-UUrrc6 @Sl�LlLJ6lfla;19; Gruoo(B\U), 4x5=20 

G��ru lLJ rr 6"0T @ LIBJ 19;ffil ru u LU) ru � ir 8J.

Note: (i) Answer any four questions including question no. 25 which is compulsory.

Draw diagrams wherever necessary.(ii)

Write the importance of herbarium. 

26. @®@Sl���ru �rrruir @�ruu516bl ®IDJB>® GruL@ G�rr!D!D��� LJLU) ru�ir!]�
Urr8Jffi.lc6�6tr @jp51a;c6;

Draw and label the parts of a transverse section of a dicot leaf.

2 7. � rorni.J t.q-u516bl epa;$1 UJ �� ru ffi.l 8J� ro 8J Bin.IDJ. 

Write the significance of ploidy. 

-- - - . 

28. �rrruir� �$ 6U6ITITI.JLI GT6m!I)rrru GT6m6"0T? ��GbT �lq-1.JUGID,LB> c6@��8;8j�(off
@5p5lu�@c6.

What is plant tissue culture ? Briefly mention the concepts of plant tissue culture.

29. G8>6"0TriTfiJ�6b"r 8Trurra=L.Orr6ntl Ga=rr��6"0T�lLJ @Slrurft.

Explain Ganong' s respiroscbpe experiment.

[�l 
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7. 6238 

Write the physiological effects of Gibberellirt. 

Write the benefits from biofertilizers. 

L.5lrrl� - r-r- / SECTION - D 

®!i5lLI4 : (i) GJa�WJill �IJ61rnl@ GTil6ITTrre;a;®e;® 61Sl�LlUGTil8>.8>64LD. 2x10=20 

Note: (i) Answer any two questions.

(ii) Draw diagrams wherever necessary.

32. GuJi>�Lb LD!!)WJLD �-oe;a;1r QJ�a;uurrL1.q-6irr �LLQJ���lU GTil6tJrfl. {�LLQJ��
�roro� @Slroe;a;Lb)

. . . 

. . . . . _ _  , 

Discuss Bentham and Hooker's classification of plants (Explanation (or) Table).-

•·; - ' 1

33. uroaQJ,IDJ 6l.lrfQU@)Q)rflT �8? Q�rr@)LJ�LJ LJL��L6bl @S)Q.Jrfl.

Describe different types in. vascular ti�sue syst�m.·

Give a brief account of single cell protein. 

Describe the steps involved in Calvin's cycle. (flow chart or explanation) 

[ �®LJ�a; / Turn over 
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Li@)� -- II (@Sl6')r&J�turo) / PART- II (ZOOLOGY) 
( LO�h.'..JQuootEGTT - 75)(Marks - 75) 

LJlrrl6l.j - �/SECTION - A

®�uy:: (i) �6lr>m�� '"5l6�rrr85tE�85@5LD 6fl���rol85tE61.J w'. _ _ 16x1=16 

Note: 

(ii) 6rrlturr61JT @Sl�L�UJ� a�ri-JhG�®�� �@@8;,
(i) Answer all the questions ..
(ii) Choose and write the correct al).swer.

1. GtErrOO�L, ��6\)$@58lffi���rr11t LD!!)WJLD JDff85@5 aurrGm"!J) �WJULjtE6IT
��rrj:5l!J)��L6m" 8;ff6m"UU@LD atErr� @GITT·LO

( �) UOOrJff · - ·(�) ��(fu: · t, ,:(.@) · tEffl)"mp:;rr� (,r-r-) , ;.i)_LL$fff6.f'
Name the fowl in which comb, wattle and tongue are purple in colour.
(a) Busra (b) -· -Aseel.. _• (c) Karakna�h - . _· (d}:,.;_S:ltittago�g

l i"t.'. ,.) . . l, 1 _: j l._)i ···: _! ,·: ��- 1�'::, ·.�:.·,.\ \,. ,,('.,; - . -� \ 

2. �6.ffi.'"5l. -�Gm" �aGITTrruSlru �IT.�6nl.6J.6l.JL6m" @�6m"J!>� 8;ff6m"UU@LD Q�rr� : 
( �) lit-�Gm".6J. �6\)a_tEOO ( �) lit-�GnT.GJ". urrG\5l(�lLDarJ<oiJ •<J'.! 
(@) rftruri"oo 11trJffGnTffi)$lrf)u(gL�·· Ji (r-r-{' �6\)8;�6\)GnT UffG'(\)o

0oLJaLoo' 
The enzyme that is attached With genome i&t HIV : - .. · ,
(a) DNA ligase (b) DNA polymerase
( c) Reverse transcriptase ,-

_ _. _, ,' --_J �. 

( d) , Alkaline phosphatase
i .,,-:; 

3. LD6lrrl �6m) ru Q ru !I))J9rr�858;�a;&rr6lJt-�@iji�i�: .. � @uH61 � UJBj . a;6lfur@:t5ltq-��rum:;LI,J rrrt/;>

[1
l

(�) @rJrrUITL atE_rr�.-; ,, ' (�) a�rr�w. ¢1:�-�frl
(@) @)If� urroo11tUJri- (r-r-) ooLrrGbrrul
Who developed the vaccine for rabies in man ?
(a) Robert Koch

. ( c) Louis Pasteur
(b) Joseph Lister
(d) Stanley
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•· 6rJB� �WJUL5lQ) ��$1,�@8i@LD ©ltll(gu ·rrms=L@��Bi@j �GiJ�WJ:Wl-1 �6IDL85rrULJ� 
�!DmGm �Gtfl$$lw� ? · · 

( �) ���fr Qf>kf8=8rc95ro 

(c@) LD006lfOTIJ"Q} 

Which- confers immunological competertce on the lymphocyte during their �tay in th� 
orgcUl? 

· · · 

(a) lymph node

(c) spleen

(b) thymus

(.d) tonsils 

s. Gh;lJooa�ffru ®�!DurrLtq..� �rfu,c95:rr�® Q_G)JGfu�to� ��®e;Gh- �:�rr¢1ru �mLOU.J8i
85rT"IJ"Gm"LO :

(_@) QIJ/Q)a�rrLDrr 
• . . i . ' 

Partial albinism cal;lses . -� 

( a) leuco4erma . .. (�) vit,ili.go 

( c) m,elanpma '. �: ; _(d)·- ,d,er.matitis , 

' ' . -. ' ; ' 

,6. 85.6®1 ��LD Qc9=UJ.rolW��Q) 6rJ6.� �}]ff�6nl QP8>$)lU �iol.@,,:61 ? .

( �) ��66-(]5!fk�_ .- ... (�):ffe�B=u�tq..wH 

('@) 6IDLDUJrrooi�uJrr $11J:�QS1QU · · (Er-) �Q)Gl\)t.6hurr .(]�rni. i

Drooping eyelid is the chatacteristic symptom of : 

(a) mt.isde fatigue

( c) myasthenia gravi.s

(b) mµscle pull

( d) Al2;eirner' s clisease

6238 
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7. '�u51rfhu6U �5�rra;a;LDrra;a;' 8i@�uu(b)6l.J� 6r� ?

( � ) LD 6bT 6l5Trrrr 6lJ 6'6)GTT ® Lrr �u51 rfltu t..61 (§Gl.J roili

( �) �ru$lrfl �u51rflUJ u51(§6l.lITTLD

(@) JD��rra�@Sl

( r-r-) �a;aa;rrurrrr 

Which is commonly considered as "biologist's paradise" ? 

. (a) Gulf of Mannar Biosphere Reserve 

(b) Nilgiri Biosphere Reserve

(c) Nanda Devi

(d) Great Nicobar

8. irr. ®�a;aa;rr<oru, a5rrli:j-llll.D urrooauc LDO)IDJLD �u a; rrrrua6l5TL aurr6b"r!])�6l.l
U)Gm(b)LD �p5l(§5UU@I.D U(§�

( �) (§ITTrTLD(!!jQ)Gru 

(@) (g5a;rfla;(§LD ®W6U 

( �) ��6'6)LD ffi@Gm"L (§k9608iGTI

( Fl') Q � 6l5T Q)) 00 6l.l 66) ITT� 

Area responsible for �eabsorption of water,. g lucose, sodium phosphate and 
bicarbonates 

(a) glomerulus

( c) collecting tube

(@) P.E.G. 

- · - -- ·· , (b) · proximal convoluted tubule

( d) Henle' s loop 

( qi,) 6'6)5LaLrrGa:m·rr�6irr B · 
. ---,- .. 

( r-r-) DNA 6'6)Q)(ga;Gro 

Which substance is used to remove nucleus from a cell ? 

(a) Colchicine

(c) P.E.G.

(b) Cytochalasin B

( d) DNA ligase
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The pathogenic form of amoebiasis is : 

(a)· malignant

( c) zoonoses

11 

(b) trophozoite 

( d) schizonts

11. ��UJ urfl6fflrrLD G8:irrLUITLlcj-Gm6m @S1_mc95(§LD 'LDfJtSlUJ@t!LD 61!bp51UJ@)JLD' GT®JLD IDJJGmru
GT@�UJQJIT :

. 
' 

' 

The book "Genetics and Origin of Species" to support modern synthetic theory of 
evolution was written by: 

( a) Dobshans�y

(c) Hardy - Weinberg

(b) Stebbins G.L.

( d) Hugo de Vries

12. @��UJrr@S16irr GU(!!jffi.18:iLQ) qhfDa>GtlGtl(!!j�� u51�a:85� �UJrrrflu�a= Qa=UJ�LD (Y)�Q)
qh�Q) �®GtJ IT 8>8:i LJ u L(b) GTT� @LLD : '

•it'•• 
•. ,, '• I :_ ,_ ·, 

( �) �u51�p:;rr(b)

(@) ®�IJrr�

India's first power plant generating electricity from ocean energy is at :

(a) Tamil Nadu 

(c) Gujarat

(b) Vizhinjam

(d) Andhra Pradesh

6238 
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13. . LD� �IT6.im1GD 2-..LGD @5al}"rraLDrraa=rru5l6bT �® �ffiJ@5 ��GITTITQ) a�rr0WJ@S18'6.il.JU@LD
2...t61 IT 19, Q 6.i ITQ) 6Dl a JI> rrt616bl Q u LU IT GT 6bT GITT?

( �) 6.i�fr �rflrurrw aa:rr�6.i 

(@) SCID 

( qi,) �60rr9u51UJrr 

( r-r-) �OOliJ-ffi18'L6m G6.irrrflUJrr 

. Name the human disease due to autosomal dominant gene: 

(a) sickle cell anaemia
(c) SCID

(b) thalassemia 
( d) huntington' s chorea

(@) 6.iIT� 6f@tjl.DL.j6.irol6bl ��6�6.iW ( r-r-) 2-..W�l)"QJ ��Q)B;W 

Sound waves ➔ vibrate tymphanic membrane ➔ 

(a) vibration of oval window (b) waves in perilymph 

( c) movement in ear ossicle chain ( d) waves in endolymph

' •.. : 

15 .. 861.IT�LDUJITGITT �!}51��LUJ Qj)6.i�a�rr0roili, B=IT� LDU)IDJLD �L8'6.iLDrr6.i�LD @®8'@5LD 
6.i !D �ru @6nrffi16.i w 

Which dairy breed has, intelligent facial expression, docile and quiet·? 
(a) Gir (b) Sindhi (c) Ongole (d) Kangayam

16. �pj� @GITT��GD, �!J)UU6m"Lj6.i6tf16bl 2-..�@SlUJITGD qi,6lrnr, Qu� a6.iIT�B;�GTT
aruwu@�� �c6hw60ITLD ?-

( �) G16U8'�ITIT6m 

(@) L.Sl�roGL.Dro� IJ"IT8' 

( qJ,) 1�h.:_ L6.i rrffiJ

(r-r-) L.Sll)"rrLDrr

In which variety "colour feature is used to distinguish the sex of birds" ?
(a) Leghorn (b) Chittagong
(c) Plymo�th rock - (d)' Brahma

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


13 

t51ifl� - � /SECTION - B 

®!!Sh.J� : 6Tmru{gW®JLD 6TL(b\ 6lS16?Sfrra;8j�a;® LDL(b)LD @51�Lwm1a;8j�LD. 
Note: Answer any eight questions 

17. GT@tjl.DL.j LD®��6l.lLD - 61.l�IJ"lLI!J)l.
Define orthopedics.

18. [DfflT - �LIT6lIT6'51®J�LlLJ u6ml8;ITT GJa�®JLD (Y)6l5Tp5l�6lIT GT(_':Q�8j,
Write any three functions of nor-adrenalin.

19. IDJGm�u5lrfl a]DrrUJ GT�ITLILj GT6m"LJ� Wff@? ��601 6)_)�8j8j��a; @)p5lui.5l@8j,
What is meant by antimicrobial resistance? Mention the types.

20. c!JTWa[nrrUJ ��L8iffLILj GT60T!J)ffQ) GT6m"6lIT? �® GT{b)��a;8jrrL(b)� �@8i,
What is an auto immune disease ? Give an e·xample.

. ; .

21. @LO lLI a6lITff@) arorry ru16nfl 6m" H LO !D IDJ LO L 5ffiJ $l 6'518j �GTT a6l.l IDJ u@ ��8j. .
Differentiate between H and· L �hains ofimmunoglobulin.

22. 1.Dr[!J)IUffL�L�Q) 6l.l�IJ"l1,..IIDJ ..
Define differentiation.

23. 'LIil�� �&� 6l.lIBJ$l' GT6hru� wrt� ?
What i� a "Protein Data B_ank" ?

'-,'_,.I ., 
t ' ; . 

24. 'a:Jt��Gl.lwl� Q�rrLrr 6l.16'6)1J"ULLi)' 61.l�IJ"LLIIDJ. ��6hr LJLLJ6m'8j�Gll GT@@8j,
Define 'pedigree chart' and mention its usefulness.

25. al.08j��GU ���GU GT6m'U� wrr� ?
What is meant by 'seeding clouds' ?

6238 

8x3=24 

[ �®LJLJ8j / Turn over 
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2 6. � rfl G tu rr ® G rr rr u5l <oio c;;h.o rr 6 rrLD L518:i Gn5l 6br u 6m LI 8:i � ITT ffi ® !Dh.J L51 ® 8:i. 

Mention the characteristics of oreochromis mossambicus. 

27. G6tu!I)�8:i (!:P�!D 8:i@�tErfl�fE6'516br JD6nT�LD8:iGTT turr�ru?

What are the advantages of artificial insemination?

28. �rrrrt.q..-�6brGurrffi .GlSl� - GlS1ITTffiC§8:i ..

Define Hardy - Weinberg law.

L5lrrl6tJ - @ / SECTION - C 

®!61 u Lj : 6J cg� WJ LD e!t) 6irr !DJ @S1 6m" rr ffi 8:i (§ ffi ® @S1 � L.:. tu 6fT1 . @S1 6m" rr eor 6m 31-ffi ® 

• ,- • '  'II;' 

8:i6mlq-l.JUff8:i @Sl�Ltu6fT1ffi8:i�L.D. 3x5=15 

Note: Answer any three questions including question no. 31 which is compulsory. 

2 9. (Y) L(b) 8:i GIT JD@� tE GU eor 6br!I) rr GU eor6br6nl? � tE 6b-r ru � 858:i� ro 61Sl ITT ffictl Q lLI @� 8:i. 

What is dislocation of joints? Classify and explain. 

30. Uffffi�rfllLI �L8:i tEturrrfl.ul5)6b,- Ulq- lB1�61?��6IT 6T"��8:i.

What are the steps involved in the preparation of bacteriological media ?

31. �IDJUL.j LDfT!I)!I)��6br LD(J"L51lLI �t.q..pu�L�lLI @Slrurfl.

Explain the genetic basis of organ transplants.

Mention the uses of bio-informatics. 

33. 'uGUw@ru�LDu�u· 61SlITTffict1QlLl@�8:i. @�tE 8:i�rr �rflrurrGTT rut.q..rua= 61ruuuwia:
G6GU @rr��G6rr�8:i eor6b"r®JLD 6rr6b"rWJL6br @Slrurfl.

Define 'polymorphism' with the classical example of sickle cell anaemia.

[�l 
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L5lrrl6l.f - r-r-/ SECTION - D 

®�h.J4 : GT�ruGlUWJLD ilirmr® ��lf8J8;(_§�(§ LOL®LD 61Sl�Lu.Jrol. 2x10=20 

Note: Answer any two questions. 

34. � rfl � 61.J a J:6 If lLI 8,8, If� 8, If lJ" 6m"ffiJ 8, 6TT I c�HJ5l (§!15) 8>�, 6)J � 8,8,GTT LO !D IDl LO �$) UJ 6)J !D 6l!) !D 
� GIT a;$) Q UJ @� 8>. 

Write a detailed note on causes, symptoms, types of diabetes mellitus. 

35. 6l!) � u G u If o °o � u §1 Gn5l 6br � 6l!) LO u 6l!) u G1S1 ru rfl . � � a ir If 6l!) � u a u If o °o � u M 6bT
� If rra LO If 6m" 8>GTfl 6bT Q 5UJ ru8> 6l!) ro 6lS1 ro c9;$) <of@� .

. Describe the structure of hypophysis and describe the roles of hormones of
neurohypophysis.

Explain mana.gement of hazardous wastes. 

Write a detailed account of any five edible fishes of Tamil Nadu. 

-oOo-
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